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DT Bridge Model Competition :

Vs

Test bridge results

Weigth of bridge :

1st Loading :
2nd Loading :

3rd Loading :

Total Loading :

Loading strength :

g
g
g
g
g
g

Cannot meet the requirement 0 1 2 3 4 5 6 7 8 9

Please comment about your bridge

1 0 Ourstanding

(3—::\ P .
Name : ( ) v A
DT \\\\ Bridge Model Competition
Course Code : . >
Situation )

There are two islands and a strait between them. This project requires
you to build a bridge over the strait, to facilitate cross-strait traffic.

Design Brief \

Make use of balsa wood to build a bridge model.

Specification )

Bridge Model

Only use the distributed materials as a production material and cannot
put addition material.

Spans more than 600 mm long.

Height no more than 250 mm.

Width no more than 150 mm

The bridge is designed as arch shape, enough for a box with a height of
80mm, a width of 230 mm to pass though

The midpoint of the bridge needs to be loaded with the maximum weight

Material used \

Teacher Comment Marks
Drawing Freehand Sketch(3D)/Isometric Freehand Sketch/
Design Technique First angle projection drawing
Process ;
Design Data Collection/Sketch and Drawing/Creativity of Shape and Form /40
Concept
Safety: No sharp edges and corners, moderate intensity, not easy
S to break
Finishing Crafts: Accuracy, Surface finsihing
Production Correct/ Good use of materials
Process Correct/ Good use of technology and skill
Function of Function: Particality, Feasibility
the product | Exterior: Shape, Form, Color, Texture, Scale /150
Student . Impact on society and culture
Attitude Behaviour Student attitude in the classroom
/10
Total
Teacher Comments
/100

Balsa wooden square 10mm x 10mm x 910mm

(Weight ratio\_

Weight Load | weight ratio Competition
Photos
Bridge Example 1 85 1500 17.65
Bridge Example 2 85 1600 18.62
Bridge Example 3 73 1400 19.18
i 600mm
230mm




DT| Bridge Model Competition

When watching the movie, please fill in the blanks or
Complete the online basic questions.

Question Solution Akashi-Kaikyo Bridge
Material 1. From stone to . | 1. Using ton of
steel.

1 |lron bridge m | 2. The longer bridge, 2. The disadvantage of steel is

stone arch. -
3. Made use of to
repair & maintenance.
The suspension bridge 1. To flatten deck of bridge, 1. Build
it needs to build
2 | Mania Bridge m | 2. Anchor the 2. Build a
chain in the Rocky bed. under the grand.
Stronger chains 1.lronto > 1. Every tine holds wire
material will much stronger. to the opposite shore.
3 | Niagara Falls Bridge 2. Example : Cotton row 2> 2. Totally bund wire.
m
3. Strength : iron Lb | 3. The contain wire enough
Wire 450Lb around the earth
Building underwater 1. Use of wood prece to build 1. The diameter of the bridge
towers meters.
4 | Brooklynbridge ~ m | 2.Strong the air | 2. Use steel to make the caisson
into the caisson. inside fill with
Taller towers 1. The longer the bridge, the 1. Tower height m.
the towers.

5 | Golden gate bridge 2. Use of 2. Internal use honeycomb

m instead of stone. structure.
3. > 3. Use to join
hollow shape. each component.
1. Problem: 1. Hollow steel skeleton—>
unstable, shape up & down push shape design.
the desk.

6 |Verrazano Narrows 2. At the side of the deck 2. Below the roadway build a
Bridge m designed as . | giant to
Double deck bridge 3. Construction of steel bar to change the director of air.

form a
Earth quake measures: 1. Tower made by

! Akashi-Kaikyo 2. Install in the tower.

Bridge m

Hints: (1991, steel, dampers, Earth Quake, skeleton union, streamline, steel beam, 1298, steel plate, air pump, Triangle, Honeycomb
structure, 1280, 300, higher, 7, cotton thread, 290, big concrete anchor, aching, robot, Wind, air flow, studs, wet concrete, 486, 80, caissons,

DT Bridge Model Competition

Navigation Gap

Navigation Gap

Test bridge Rules

350, 127, wire, 250m, Tower, 177m, stone tower, rust, Higher, cast iron, 250000, 30m )

—-

. All the bridges should be weighted before testing.

. The grade will be calculated by weight ratio (weight : load)

. All the weights need to be placed in the middle of the bridge.

. Each group have three chanced to add weights on the bridge.

. The weight has A4 13KG, square brick 3KG, 5KG, 2KG, 1KG

. Each group decide the amount of weight will be add. If the weight adding
completed, the weight will be counted with the bridge will not break within 3
seconds.

7. If the bridge is broken during the weighting process, the weight will be calculated

on the previous weight.
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